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0 £H 74,383 £E 41,287\ £H 20,316 £[FH 38,159 | £EF 18,604 £F 5,232 &F 1,733 2E 993 £ [F 711

G 86,998 KBrth 48,080 H & 29,748 | KRt 44,995 EHR 25,724 | 8@ 10,426 | E2 [ ™H 3,739/1luATH 2,608 RI&TH 1,868

2 B5HM 85,537| = LU 47,866 BEXTH 27,719/ E LUt 44976 FEFHFH 25,295 B fF 8,291 fHIE[E T 2,889 RI&TH 2442 1lLOTH 1,792

3 R ARX &R 81,397 HIRERX &R 46,577 FHETH 25,345 &R 43,361 ELUTH 23,670 fA¥E[R T 7,900 FH# =T 2,713 #8Th 1,918/ #3I 1,601

4\ FEAT™H 81,158 &R 46,203 | &R 25111 | R RTE X EB 42,604 | &R 23,665 & ETh 7,801 | RfFH 2,628 =& 1,874/{4E8™H 1,592

5 FFHh 80,920 FR#RTH 45,671 E LU 25,079 AR 42510 #XEH™ 23,160 H I AR X &R 7,788 | HI¥ET™H 2542 Koth 1,819 =& th 1,451

6| KB 79,997 At LM T 45,146 ¥\IH 23,564 L A Th 42,148 FEH 21,577 JII&tH 7,639 A E;TH 2480 {E&E™ 1,711| KHh 1,450

7/3R 79,939 R 44924 FET 23,339 & 41,855 RI&T™H 21,497 | FE=TH 7,493 | 1| &t 2,475 AL il Th 1,678|#AUTH 1,239

8|#&EET™ 79,523 FEm 44,879 L% 23227 &R 41,794 ¥ ILTH 20,565 FEh 7,355 |f@ETh 2,465 ¥ UTH 1,623 L A h 1,118

9| R&RTH 78,738 |t&ETH 44,785 RIG™H 22,768 FEm 41,278 KR 20,525 BifE™ 7111 | FEH 2,342 | &R 14719 BEIRE™ 1,090
10 ZBH 78520 =B 44 441 |5 1UTH 22,054 & ETh 41142 |\ Ith 20,458 | SV -FE T 7,030| R = AR X B 2,303 E LU 1,434 B EXTH 1,049
1138 EH 78,266 ;& 44,269 | KR 22,039;&mH 41,001 | ALIR 20,154 ;E#ATH 6,511 ;& 2,255 IR BT 1,385 FEmh 1,031
12| #L1R T 78,260 F#&H&™ 44,002 ¥R TH 21,678 T 40,484 | HEHE[RTH 20,118 B HET™ 6,489 & ETh 2,252 tRE[R T 1,339 &#ath 987
13|&RtT 77,793 #AH™ 43,896 1lLATH 21,580 tH#R[RTH 40,396/ LLAT 19,985 {8 &TH 6,359 | SLVf=F T 2,204 EaTH 1,311/ &R 976
14|53 ™H 77,136 HH¥E[RETH 43,472 b Ll h 21,441 | Ri&H 40,078 dk Ll T 19,950|;2H 5,779 ;ETH 2,197 [LET 1,301 E Ut 963
15| &[T 76,776 T 43,458 | BERETH 21,315 fAEH™ 40,004 £ & 19,830 li&TH 5696 ZHEM 2,086 f@2RE 1,237 | t&fETH 944
16/ L 76,776 L% 43387 21,231 | #0FrLmH 39,987 R 19,689 LUz TH 5585/ llET 2073 FEH 1,193 BERTH 923
17LEH 76,710 RI&™H 42526 |{E&EH 21,228\ K& 39,631 ;F#mh 19,563 %R H 5,432 B[ 1,931 |4 EHh 1,177 ¥R 867
18|)11 5 H 76,458 | F0FRLTH 42350 Frimth 21,153 ZHE™ 38,802 |\ Frimth 19,324 K HETH 5,081 |LUfizTh 1,872|BEARTH 1,170 #&Emh 819
19 #Fia™m 76,116 KiEmh 41949 =RBH 20,988 | B4 [E 38,608 IR&RT 19,307 JKETH 5,040/ 7K B 1,834 R #B X &R 1,110/ fkET™H 806
20;FH 76,093 ZHET 41,887 KXo th 20,878/ lLOTH 38,153 |f@# 19,196 BRER™H 4,825 ¥ 1,798 ;E¥ATH 1,095 = %0tH 778
21 |ILUfsh 75,543 B4R ™H 41,692 T 20,683 FE&H ™ 38,047 Kyt 19,194 R¥mh 4,786 ELUTH 1,791 | =& TH 1,093 [ & 764
22 RIG™H 75,465 | )1 & 41,545 FFxLTH 20,435 I I&TH 38,006 | 2% [#] 19,059 #L 1R tH 4,688 KPR 1,764 BELTH 1,073| KB 762
23| Ki#EMH 75,188/ lLO T 40,837 {&8HTH 20,367 | #LI% 37,968 FnFr LT 19,050 KB 4,648 FLEHTH 1,716 F%[ETH 1,040 FFr LT 701
24 BRFTH 74,838 Kot 39,839 | F ™ 20,366 |t&H 37,318 KiEm 19,020 F&HH 4,526 S50 1,652 fHF T 1,000 ;EH 674
25| @Bt 73,788 | SN f=FE T 39,801 ¥&mh 20,317 Kyt 37311 | ™ 18,925 Z IlLUTH 4442 | KLIRTH 1,514 K th 992| R R ARX &R 671
26 AT 73,461 BE 39,775 | KiEH 20,150 SLV=F 37,1883k 18,873 | #0FkILUTH 4150 F & 1,413 &%0th 990 fAF ™ 671
27 E¥H 72,926 AU 39,558 | R F AR X &R 20,130 #A LU 36,909 |t&ETH 18,477 & %0th 3,970| I B 1,407 1| &5 vH 975\ &E#&H&™ 653
28| B HET 72,919 =t 39,434 [#&ETh 20,083 EHTH 36,701 | =40 18,396 | R tHh 3,939\ Fiath 1,370 B EH 971 | AR 652
29 | F0Fr Ut 72,237 f&@H ™ 39,379k ETH 20,066 | ;E¥ATH 36,327 fllEmH 18,288 I B 1h 3,934\ K;ETH 1,368;FH 968 B ET 646
30|SLV=F T 72,148 &[T 39,166 | = %0TH 19,897 & %0tH 36,223 | R AR X &R 18,249\ K;EMHh 3,890\ R 1,290 | #0FrLUTH 963 ;EfaTh 639
31| FHET 71,636 & %0 39,004/ B HET™H 19,730 S tH 35,963 B HET™H 18,182 £RBTH 3,816|F1Fx LT 1,241 fkET™H 961 | [ LUTH 634
32EmTh 71,205 ;EfA T 38,716 | & fath 19,511 &[T 35,194| B i&H 18,135 m&RTH 3,675 /3R 1,235 K& 9243 624
33|luAT™ 71,009 fli&E T 38,397 EIRET™ 19,2738 35,124 LV =FE T 17,862 | #1:8H 3531 fEE™ 1,178 | [ELU™H 923| B¢ 624
34| EHTH 70,583 $iam 37,638 | ElFT™H 19,255 B[ H 34974 EEIRET™ 17,834/ fEE™ 3,312| ElET™H 1,136 3R H 911 | SLV=FTh 620
35 B 70,147 ¥AITH 37,630/ &L V=F ™ 19,216/ fEE™ 34,651 | 5tath 17,731 | FH 3222/ =R 1,126 =B 904 | il 580
36 HItE™ 70,113 | F#E™ 37,407 |JII&TH 19,002 & 34571 BEART 17,584 | &R 3,165| =ARTH 1,117/ 3LV =FH 867 fEE™ 573
37 f&8HFT 69,859 [E &TH 37,399|lLUfsTh 18,871|F&E ™ 34,552 | {2 17,505 | &= &5 tH 2679 fHF ™ 1,045 BB fFh 809 =R 536
38| =t 69,851 f2RE™H 37,393 |f2fE ™ 18,846 | #riBH 34,324 )I|I&TH 17,1248 HH 2,443 |f@HH 900 f&@FHh 805|t&H ™ 534
39| Knth 67,958 {E&E™ 37,281|REAT 18,793 ¥ TTH 33,815 8@ 17,027\ EERET™ 2429 [ & 768 | fEET™H 772\ KiEH 526
40 #ALUTH 67,802| LUz 36,968 | % E 18,689 RI#E™H 33,709| LUz h 16,864 REATH 2,161|E'RE™ 768 | ¥ 700 )1 U 517
41| BT 67,641 fEETH 36,927 f2ETH 18,367|EERET 33,586 | fEET™H 16,848 & #ATH 2,059 | BEARTH 758 B &H&™ 676 R fF ™ 461
42 | ¥iTh 67,399 B fFH 36,792 fEETH 18,161 LUFzTH 33,446 ;EfATH 16,848 £ & 1,956 S tHh 694 Ik B H 675 I B 460
43 )KFE 66,761 | BIfE™ 36,694|[LETH 18,066 [L & 3343312 &M 16,723 [L & 1,897 | #aluth 671 HItE™ 605 RIfE™ 455
44 B[ ™H 66,622 I BB 35,984 ;E¥ATH 18,029 HFFTH 33,276 | I BT 16,580/ & LU TH 1,745 B H 668 FHNE T 596 JKF ™ 401
45 {EEH 66,312 f2&th 35,797 I BT 17,996 BEATH 33,182 R¥ 16,452 ¥ ILUH 1,743 | LH 548 KT 575 F&PE ™ 397
46 |fEET™H 66,311 EERE™ 35,733 BR¥F 17,813| I B th 33,174 BitE™H 16,327\ K& 1,734/ IlLOtH 521 R¥h 5711 L& 396
47|\ [LB™ 64,046 R ¥ 35,161|Hi#ET™ 17,757|%8 6™ 32,789 [ BT 16,124 EEH 1,677 BELH 495 (L& 529 KErm 391
48| EIRET 63,338 [#LLUTH 35,130 |[# LU 17,703| = & tH 32,700/ KF 16,024 ¥ TH 1,464 ¥A;Th 493 {2 ETh 506 | BX [E 346
49| E i TH 60,898 HEATH 35,113kt 17,406 R¥7th 32,663 | [E LT 15,956 ILOTH 1,418/ db L h 465 LRz TH 490 | LUz TH 323
50| & LT 60,245 K BT 34,692 FHETH 16,948 & LLTH 32,088 FHE T 15,447 f2[E™H 1,389| KHth 453 | BE [ h 443|12BTH 257
51 BEATH 59,059 | E & tH 34,533 HfFTH 16,467\ K EtH 31,754 B 14,659 E & tH 1,268 |t2[EH 395 R 259 | R EF; ™ 131
52| ARERTH 48,267 BRERTH 28,159 | AR & ™ 15,162 BREEH 26,731 AR F;m™ 14,210 e ALl 1,214 RIG™H 365| AL TH 189 | ALWE v 78
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LWL LWL noH noe ANy (LAY Ny (N A =T s =X
—————————— KE BD- —HE: - | <XF B |——HE: g | HKF - | HE - | X B | ——<HE: - |—<F -
02E 396 £E 414|2F 1574 &F 864| £ H 901|£H 653 £E 4992 £F 2,363 £ [F 824
1 BEH 930| B 1,311 | & 40mH 7541 | &40 4,032 EERTH 2,907 EHRh 3,091 | #LIgH 7,768 LR 3901 EIRET™ 1,378
2|&iRm 800 HF&™ 873|)KFth 2,787 KFth 1,533|F AT 2,129 H&H™H 1,747\ #8H 6,381 Frimmh 3,475 BI&TH 1,279
3 Keh 796 | #iTTh 868|f@ETh 2,786 {2 & 1,458 | #¥8iTTh 1,861 AT 1,662 | F AT 6,170 F&™ 3,328 ¥ TTH 1,275
4L A 793 AL LM T 813[L& 2,374/l E 1,256 | &R TH 1,741 ¥ T h 1,455 5 &% ™H 6,087 XA TH 3,288 #nFrLhH 1,234
5|\ ERE™ 761 K59 778| Uz 2,339 LlUfsTh 1,227 5 &% H 1,679| #L 1R H 1,434 FEH 5,908 HItE™H 2,966 &R 1,132
6|¥ITh 737\&iRt™ 748|fEET™H 2,337 B[ 1,201|€;Rth 1,671|€Rth 1,350/ = WU 5,690 B[ TH 2,951 ;E¥MATH 1,092
LN 666 FIEmH 725|;EfaTh 2322 fAET™ 1,183/luaTH 1,607 | ¥ 1,202 | #HAEE T 5,660 FEh 2,818 &R 1,069
8| RIG™H 665 ¥ LU 718| &M ™ 2,286 LU 1,177/ EBH 1,585 &3 1,160| SR AR X &B 5,624 tRHE[R 2,789 b A 1,063
o|luOw 632/ lLOTH 649 & ¥ATH 2261 2T 1129{E&H 1,583 | FR&RTH 1,159|&LVv=F 5,593 ¥ 2711 | BT 1,059
10 | {& [ 596 ;EtH 642 | B I&TH 2112 FEHh 1,103/ K:ZEH 153718 1,122 | BitE™H 5521 K ETH 2,707 Ko th 1,037
11| E5H 589 | fRIZ[R T 622 | #3LUTh 2,033 E&h 1,044 |8 HH 1,485 =Bt 1,117/ ZBH 5521 EUH 2,636 EEH 1,027
12 8&H%™ 578 | K& 616 FIEM 1,813 ;E#ATH 1,033 ¥ 1,410 K& 994 | B [ETH 5,403 &LVi=FTh 2603 =BTH 1,026
13| FEH 555 | fHF 593 | FNFr U 1,788| &L TH 1,019 | #L 1R H 1,404| KB 991 | AR 5383 =R 2,465 #AUTH 1,019
14 537 # AT 584|;Fm™ 1,760 F0Fx L H 982 KBrth 1,391 luAH 988 | K& 5,288 R R X &B 2420/ luOtH 1,016
15{&8 ™ 533 R E™ 569 | BRI #N X &R 1,753 R &R X &R 953 | T 1,198 | &R 800|;EtH 5275 {kE™ 2,405 f2REH 950
16 #XATT 521 |t 561 | F& = 1,679 =BT 940 3Rt 1,167 f#F™TH 781 {&E™H 5,161 ¥ LUTH 2,391 5 924
17| ElUh 501 | E U 544 | &RTH 1,666| KB h 936 | B[ 1,025 3R 721|Ix B h 5,156 ;&th 2,369| K:EH 924
18| fR#R[RTH 493/ 538 KB 1,658/ &L =FH 914/ db i th 1,003 K& th 714 #ETH 5125 fEETH 2,359 B ET™ 915
19/ f@FH 481 | KiETHh 531 | LUt 1,645 fB1Z /R H 886| Kn'h 993 KHmh 703 B EM™ 5110 B 2,347 f&@HH 912
20 AR 456 {EB™H 524 =R 1,593 3R 878| & tATh 986 | [E LU 665 |J1I&TH 5,087 ARERTH 2,344 ™ 901
21 REARTH 442 A ET 523 fRIEE T 1,564 FR&RTH 870/ {lEH 959 |z 643|)KFE T 5,078 K:ETH 2,343 EBfFTH 863
22| R #R X &R 431 Z5H 521 | B8 FE™H 1,564 FHBEH 862| REFh 952| ELlUmH 641 ;EHTH 5,045 I B 2,321 | &40 854
23 METH 430 | FRERTH 498 |SLV=FETH 1,554 | 8% [ ™h 832\ LUTH 917 At LT 627 fEE™ 5,042 ¥ ITh 2,303 FEH 841
24| FRH 428|HEARTH 497 1,530\ KiEth 830 E U 910 L& 626 | KU 5,031 B fFH 2,297 841
25 FFrumh 427 LB 491| KE™H 1,501 EERH 818|[LE™ 868 FIEM™ 625/ K;EM 5025/ f8HH 2,285 K& 840
26| [LET™ 421 FOFrLH 491 EIRE™H 1,478 f#FTH 808/ /KA TH 862 S#ATH 592 iR 4983 2B 2,268 tEE™H 835
27|1&E™ 415 =B 477 #ET™H 1469 5% H 806/ LUz 841 [LET™ 592 ¥\ T 4900 EE'RETH 2,268 | B 833
28| KiETH 410 f2FTh 443 |#ETH 1,427 ;E&H 780 FEm 836 /KT 564 | F%[E T 4886 FE=TH 2,266 3Rh 811
29 )11 57h 388 ;Eamh 434 BHET 1,413|#Emh 765 f2[E 813 BHET 558 | #x LUt 4,845 &R 2,248 | ALIRTH 808
0 ZEHET 384 |1 E™ 398|[LE&TH 1,410 # AT 765 fAHR[R 802 f&fE 526 | BB ¥ 4,844 AT 2,233 FATH 804
31| &R 356 B ARX &R 396 EHRH 1,399\ [ & 737|128 Em™ 761 HHERT 518/ [ & 4,784 RIGTH 2,222 AREHETH 791
32|l BTh 347 iETH 3N | FHET 1,349 | #L 1R 730 F0FR LT 716| K BT 516 AREATH 4,749 b ETH 2216 fHETH 785
333_H 338/)KF T 370/ JII&TH 1,329 RI&TH 725l B AR =T 496 EIRET 4710 &R 2,209 | ELV=FETTH 779
34|3LV=FET 335 | BX [ 364 B HET 1,210/ 1| 5T ANIE 5581158 682 )II& T 479| KR 4,662 ;E¥ATH 2,209 AL 764
35| Fimmh 331|)IW& 351 | = 1,209 I B 7 4|2 EHEM 679 F0Fr LT 478 FEE T 4,647 )I|I&TH 2,189 HHIEE™ 760
36 SATH 329 I BT 330|FItET™ 1,185| ElUth 709 )11 v 658 | RIItE ™ 430/ T 4647 2 HET 2,188 REfh 749
37 HiItE™T 317| KPR 324 #LIRH 1,148 EIRE™ 705 FE =™ 610/ SLV=F T 425|ILUfsh 4,645 tEETH 2,178 KBrth 737
38| fEET 315/{lEm™ 318/luAT™ 1,123|$7:8H 657 | SLM=F T 604 FH =T 405 | S tamh 4,643 LAz TH 2,170 gEATH 726
39| ;EMTH 313|@th 300 Fiath 1,096 2 & EH 642 f&ETH 565 R ANX &R 405/ lLATH 4643 EHATH 2,136 | #&ETH 715
40 [ 1luth 303 E¥rh 287 | REARTH 1,090 g4 632 | fa LU TH 565t LU Th 383/ &R 4,603 iRth 2,119 R RE X EB 715
41| K 301 | &% 283 |\ ITh 1,089 ¥ ItH 597 | @itaTh 555 | &%t 374 Bl 4,603/ [ LLTH 2,083 HIHETH 696
42| E¥h 280| &40 274 I B 1,083 BEKTH 578 EEATH 544 & & 372/ LH 4569 HETH 2078 B ET™H 669
43uE™ 274 BiIFET™ 274 El&H 1,046 &Rt 521 B Fh 510 BRI 358/ iETH 4532 Kirh 2,061 [LE™ 637
44 ERET™H 265 =LV=FH 274 B FFTH 086| FRFF ™ 518/;&m 506 | BEATH 351 @B 4,492 1LOTH 2,045 1| I H 630
45| FE=EH 253| FE =™ 264 &R 982/ lLAO™M 518| B¥[E 495 ;E#ATH 338|f@H 4444 [ ETH 2,045 #Fhi|amh 607
46| S 50H 246 ST 262 E¥h 950 E¥mh 515| =& 490 ##ETh 334t M 4,392 REARTH 2,037 BEFHM 592
47\ KFth 241 |2 BT 245| Kpth 878 |f@Fh 4748 ETH 472 ;& 332|REARTH 4,254 FFRLTH 2,021 )KETH 587
48| lUfsTh 2178 237|f&F#h 866 ANERTH 458 ;E¥ATH 459 EET™ 308| & 4,200 =&t 1,984 FH#EH 544
49 BB 208|IlUfizTh 233 |2 841 {£E ™™ a4 | RIE™H 442 RI&™™H 290 Ak 4192 K4oth 1,980 B%[EtH 532
50 | #LiE 194 ALWETH 2198 765 | t2E ™ 408 EEIRETH 347 & 50H 277\ Knth 4115/ Aumth 1,889|f8&™H 530
51 BRFmh 152 ARER™H 110/ ARERTH 725| K5 407 & %0mH 30 ERET 257| B & 4,025 S%0tH 1,866 & TH 510
52| ARERTH 123 B fFTH 92|t AN Th 716/ db i 359 ARERTH 162 FRF;@TH 131\ & %0 3913/ tERAT™H 1,858| LUz T 373
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k¥ SAFE SAFE =L f=Ly AU Y L LA
———————— HE: - < F - | HE: g | FE - | HE: - < F - | HE: g < F - | ———<HE: -
0 £H IANESE 418| £ EH 277 £E 1,131 £H 498 £ [E 2,846 =F 1,427 &H 1,791 £H 1,034
1T 1,202| #kET™H JARNEYN:TT 557 BEATH 2321|158 1,332/ Euth 6,745 = LLUTH 3,593 ELLTH 2,934 EEh 1,993
2 EE™H 1,190| #L 1R v 625 F &M 507 #alum 2,280 BEATH 1,295 &Rt 54444 R 2,850 H & 2822 H&HH 1,954
JERET 1,141 | B[t 620 #L1E T 494 P TH 2,220 #A LU TH 1,147 lLath 4,592 R 2,283 BT 2,526 FETH 1,629
4\ B 5TH 1,066 & 610| &R 457| L 2,126|dt Al 1,064 & th 4,527 | #3Th 2,120/ 1R h 2,508 ¥ T TH 1,508
5 ¥ 1,040 F &% 590|LLUfsTh 402 tEE™H 2,015 Ri&H 946| RI&™H 4298 Kyt 2,067 ¥ ITh 2,448 E L 1,476
ENE/IGT 951|KF™ 551Kt 381 Kt 1,884 lLAH 934|f@H™H 4,068);E&mH 1,995| KR 2322\ #riETH 1,418
7R 945|125 536 & 379 &R 1,841 |8 923 E™ 4042 |f2HTH 1,972 &Rt 2,282 |lLUfsTh 1,371
8|&Rh 942 | lLfzh 5022 BT 367/ 1lLAT™H 1,830/ F T 913 Kfrm 3912\ &40 1,908 IO 2,273 3R 1,328
9lhO 936| R RAPX &R 497 #ALlUTH 33 ERET 1,823 &#amH 894 ;EtH 3,792 EWRTH 1,892| &R TH 2,257 f8HhH 1,300
108 H 928);EtH 4872 340 ZEH 1812 K 871 Kpth 3,713 &¥AthH 1,891/ db L v 2,238 &;iRth 1,284
11 e RENITG 487| B ELH 337| KHh 1,791 BIRE™T™ 865\ T Th 3,706 lLOTH 1,879 f@H ™ 2,201 | B[ 1,252
12| #LMgH 895 R¥rh 479 FEmh 328 B[ 1,782| KBrth 843 ZRTH 3,700/ & 1,875 FHEH 2,130/ luOh 1,196
13| BT 892 E#ATH 461 |l EH 311 | RiG™H 1,769/ =B 792 HERT 3,652| KPR 1,872 B fFH 2,048 | FREARTH 1,169
14| Ko h 862 BT 459 | griath 310 = 40h 1,604 | & LLTH 680| & %0 3,641 | FEmH 1,841 |78 1,990 {2 & 1,094
15| KEH 845 tE;ETH 440 E¥Fh 302 3RtH 1,589 & %0th 67415 Em™H 3,571 |f@f 1,831 IUFzTH 1,974 KRt 1,084
16 FR&RTH 834 fHIEE T 430/ =LV=FTH 293 EATh 1,575/ 8™ 673 F0FRLUTT 3,568 | F0Fx LT 1,826 =BT 1,957 FEmh 1,083
17 Ri&™H 820 Fimm 429 |ARERTH 288 [LET™ 1,462 |#0TH 642 | KiEmH 3,507 L AL 1,807 Z&0tH 1,944 #31Lth 1,081
18|t8H™H 816 K;EH 416| R AR X &B 287 K:EMHH 1,4533RtH 642 fHFE ™ 3403 =R 1,785 #01Fx LU TH 1,875 R AfFTH 1,073
19\ &XEmH 814 FEth A4 B[R 276| B TH 1,443| H#RTH 625 f&RE 3,332| K;ET 1,712 #1Uvh 1,875 Ik B 1,072
20| &%t 788 )1 &t 410 5 Th 275 FFru 1,296 [ & 620 3Rt 3310{E& ™ 1,709 | Ri&™H 1,863 =B 1,045
21| &5 784 ;E¥ATH 409 |[# U 267 B LH 1,257 | F0FR LT 606 'R ET™ 3,292 | $rimTh 1,694 [LE™ 1,840 dE A h 1,043
22 B E™ 772U 404 =B 261 EHRANX &R 1,140 Ki#EmH 550 | [i#] LU TH 3,186| =& 1,687 K¥mh 1,838 ZHET 1,042
23| FEH 764 =BT 403| K& 260 FEH 1,118/ £RH 510| & & 3,169| I BT 1,680 #F TH 1,823 #LMETH 1,032
24| &t 748 FFR LT 399 #ETh 254| I B th 1,114 Bi&H 494 Jb hmth 3164|FE'RE™ 1,663 S¥ath 1,821 550t 1,001
25;&m™ 739 BT 398 | fnFru™ 254 t&ETH 1,099 | I B 492 EHTH 3,075|FR&RTH 1,650 | BERAH 1,790| & LU tH 997
26 fERE™H AVIP.N N 392 )1|&H 249 &R 1,050 f#kAH 470 ¥ Lth 3,030\ T 1,648 1| 1,757 K& 984
271\ &5#h 716| &R T 386 FHR =™ 245 A HET 1,016 FEH 432 FEH 3,021 |4 ETh 1,594 B HEH 1,736 {4E&TH 972
28 fATH 715 |FH#=H 384;EMTH 240 ¥ ITH 1,004 | 3R R &R X &R 422 ¥ ETH 3,012/ ¥t 1,497 I B vH 1,731 |1l 968
29| fA¥E R H 695 [L & 377/ E™H 239 E&TH 982|;EtH 416| I & H 2,988 | HHIERE T 1,490 BRI &R X &R 1,715 K& 957
30 BEATH 688| FRERTH 363/ [LE™ 229;FmH 949 B HET™ M3 [LET 2,975 3R 1,461 K:ZE™H 1,714 956
31 RpFmh 674 fRF ™ 361 | F%ME ™ 223 | JII&TH 948| EHRTH 399 BHET 2,933| R ZARX EB 1,441 [ 1,699 FFr LT 955
32| RH™ 673 SLV=F 361 BHET 222 | HEEET 880 t& K 394 REARTH 2,913 115 tH 1,413 fEE™H 1,696 fHFTH 944
33| BT 671 RIIAET™ 358| Kot 222|ELN=FTH 842 ;EMTh 377 HERAXEB 2,902 SLV=FEH 1,393| FFEmH 1,689 {iEH 937
3431 ™ 669 | % 333|F&RTH 219 Eluh 749 FBEATH 362 #Friamh 2,766 ZHE™ 1,372{& ™™ 1,685 R &R X &R 923
35 AT 663 A EM 332 | HiItE™ 213|# AT 747 F&™ 353 MHIEE T 2,685 FAHETH 1,312 ;E¥TH 1,676 &#ath 923
36 |fEET 651 lLO™H 320/ lLAT™H 213 ARERTH 720 fAHR[R T 344 |JII&TH 2,680 | [ LT 1,294 | &/ TH 1,667 ;E¥ATH 908
37| KBrh 637/ =L 319|#Rh 211 BB 702 R¥ 318/ELV=FTh 2,494 | RERTH 1,290 ;& 1,647 fA#E[EH 901
38 [T 609| B fF 318/{kE™ 199 ;E#ATH 682 =L V\=F ™ 315 R¥ 2,180\ R¥fh 1,199| #L 1R H 1,620\ L& 897
39|3LV=FE T 608| &Rt 315 E LU 198 | Lz h 656/ )1|1&H 295 ;EHATH 2109|[EETH 1,191 {28 B 1,605 RI&tH 887
40 R R ABRX AR 595 iRt 311 |&R™ 195 2Bt 656 | = LU 290| Lz th 2,040| &[T 1,188 fB#E R H 1,596 | L =FH 878
41|gifE™H 571 |fEE™ 303 | R fFTH 187| 5 &H™ 654 |HIETH 273 #KHET™ 1,998| LAz TH 1,182 {l&™H 1,591 ERE™ 878
42 | #FhiEmh 563 ¥ 292 | #NITh 167 ¥ 631 @& 263 {2ETH 1,864/ Il&TH 1,084 4K 1,581 4K 871
43| BRERH 551 {&&E ™ 285 | t&RE 163| #L 1R 605| LUz 237 | &[T 1817|288 1,075 BEARTH 1,581|7)KETH 866
44| KFPTH 530 dt LM 2742 HTH 160| ¥ 570| #L1R 226 KPP 1,815 F&F%™H 1,066 | E%[ETH 1,571 e KtH 844
N 528 t&[E 264 | REARTH 156|f8F 568 |Fiah 221 | g% 1,782 ;E#ATH 1,031 &LV =FEH 1,538|fEE™ 834
46 |fEET™H 526 | KFr 262 AT 144|7KETH 567| B FFh 221 lbETH 1,782 | FF#E T 993 Knth 1,507 5% h 829
47|)1| i h 513| RI&H 216/ b th 136 4B 512| &R 218| FHE ™ 1,744\ 7k EtH 989 EIRET™ 1,442 | F#EH 809
48| FHE =™ 498 REATH 212| Kih 130 F&#p=hH 512|f8HH 214|HI4E™H 1,700| &%l 924 | F&ETH 1432\ K5 808
49{uEmH 475 S50t 202| E & TH 124| &R ™TH 497 & 199 BB fFh 1,641 BFFTH 907 E & 1,400 f2[EH 793
50 {2 &Th 472 f2FTH 198| RIG™H 120| B fFTH 493 B3 193| 5 &H ™ 1,609 BB 891 HitE™H 1,296 E & TH 785
51| B th 437| Bl TH 195 &40 105 L& TH 488| FHRETH 190 FREF;™H 1,091 | #L1% 557 )KETH 1,246 | BiHE ™ 749
52| U SN2 ERE™ 140|EERE™T 96| B¥[E™H 488|/KFTH 161 #L1R T 1,076 R EFmTH 546 ARERTH 861 AR E;H 512
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- =-C A2V ZU0 paN yaN j ot eRp): 5z} SLAEEDLE
—————————— < B~ |—HE: - | E B B E: g < F B <M E: g | FE B | ————<HE: - | —————<FE F-
02E 1,168 &[F 457 | 2[F 3,015 2F 1,325 2 [F 1,617 &F 349\ £H 6,897 £E 4,128/ £H 4,365
1| KB 1,574 | #L1RH 651 | KR 4,046 EEH 1,860 B ELH 4,338 B 1,976 L AL Th 10,320 &#& 7,310/ db fuiMl 7,148
2| mERT 1,521 3R 615/ 3R 4,039 FFR LT 1,836 &Rt 3,734 &;Rth 947 | fHFT™H 9,552 | Rl&™H 6,360 f@F 6,275
3ZET 1,519 lLufizh 610 #0&kILTH 3,779 KBrth 1,695 #0Fx LT 3,526 t&ETH 892 | Kfr 9,226 #LiEH 5,923 |f2fE 5,996
43R 1,481 KRR 597 =R 3,626 3RH 1,675/f@FH 3221 =Bt 868| RI&™H 8,642 AL Ll 5580 Xt 5,582
5 F T 1,424 #FH 568 |;ETh 3,567 #xLlth 1,666 3R 2,901 f@Fh 840 /iR 8,641 #xlth 5,524 R 5,360
6| R AR X &R 1,367 &R 549 ELUh 3516 HEARTH 1,603| KBrth 2,853 tR#R[R T 786 &R 8,395 &Rh 5445 = LU 5,237
7 #1FLT™H 1,328|f8FH 542 &¥ATH 3433 EIRET™ 1,593 | #L1RH 2434 HPETH 747 EHF™ 8,337 #kHETH 5,393| R HARX B 5,170
8|1 1,323| L& 541 | &RTh 3,430 S¥Th 1,587 ZB™h 2,386 #LiRtH 648| AR 8,252 ELUth 5,330 REARTH 5,106
9 #L1ETH 1,323 =Bt 540 | RI&TH 3,400 =RBTH 1,586 2,209 | FRE&RTH 634| fLIR 8,220 & TH 5,056 |1 /EH 5,069
10| LUz TH 1,295 H&% 515/ Uh 3,355 ALIEH 1,582 RIGTH 1,924 3R 616/ = LU 8,069 B Hxh 5,004 ARERTH 4,968
AT 1,287 & 502 & HE™ 3,329 & 1,562 | IR &R T 1,853 F1Fx LT 601 | #3LUTh 7,984 K 4,895 FETH 4,805
12| f8F™H 1,286 ;ETH 502 EHR 3,304 £;RtH 1,541 #EH 1,827/ 5 &F% ™ 593| Kot 7,502 fHE T 4,866 FETH 4,769
13| & 1,282 | &L V=% 501 (AL Ao 3272 RIgTH 1,531 |%B4&E R TH 1,806 #3iITh 580| K& 7454/ lLAO™H 4,721 F#H = 4736
14 HHERE™ 1,272/lLOvh 500 A 3,259 FATH 1,529| 8% h 1,757 KBrth 571 | BIR AR X BB 7443 FEmH 4,441 5[ ™H 4717
15|&LV=FH 1,254/ 1| & TH 496| &Rt 3,209 |[#ELLTH 1,520 K:EmH 1,755 FEh 559 BT 7,418 B[ 4,383 KiET 4,687
16 |#&/EmH 1,247 | B[ th 494| K:EMH 3,191 ELUuh 1,508 |4t Lo 1,733 |AitE™H 543|ILAT™ 7411 X9t 4,347 R¥h 4671
17| K#E™H 1,244 R ER X &R 493 [ ETh 3,178 B HET™ 1,488 FE &% 1,708 ;ETH 526 B ET 7,292 &R 4289 =RBTH 4,665
18 1,236 Ki#Emh 492 | FEARTH 3173 LETH 1,485|I% B 1,610/ B H 524 | &R 7,098 REARTH 4,268;Fm™ 4,663
19| LHh 1,161 S#amh 481 | I ETH 3,160 ;&M 1,481 & %0t 1,564 ILfizH 488 |[H U 7016 A E™ 4,264 HER[RT 4,562
20 = %0Th 1,147 #H{EEH 473 R ET™ 3,103 F&H™ 1,442 S8 tH 1,536| = LlUTH 486 ##;ETH 7,007 ;&M 4,086 J11I&GTH 4529
21 iEh 1,116|#Emh 467 [T 3,084 i 1,422 | F#ETH 1,500 J1| i1 475 liE ™ 6,889 1#ETh 4,018 KB 4527
22| FEH 1,100 & 40th 467 | FAHA T 3,082 I B 1,408 |#3:T T 1,470 db AL Th 470/ =B 6,853 {2 ™ 3992/ /kKFth 4516
23| B ET 1,087 | #0Fk LU TH 460| Koth 3,070 KHth 1,389 £ E™H 1,444 RIGTH 437 6,786 {EE™ 3948 EIRET 4327
24 | BE[ETH 1,083 | LU th 451 4EE™ 3,045 AL Al Th 1,383 | AL H 1,438 Stath 429 FEH 6,490 #A;ITh 3,942 | FnFr Ut 4311
25|F# = 1,077|¥ALUTh 441 |#ETH 3,044 |t ™ 1,368| X 1,431 KEMH 425/ &VE=FTH 6,441 | SV -FThH 3,915 HI#E™H 4,308
26/ lLAT™™H 1075/ 8Bt 427 R ER X &R 3,022 fEETH 1,366 1 ETh 141848 ™ 420|F0FR LT 6,435 [ELUTH 3884 & 4,290
27|l B 1,052 &2 tH 419|F#HZT 2,963/ 1lLAT™H 1,363 FEH 1,400 | $7:8H 387|LET 6,143 R R AR X &B 3,860| & TH 4,245
28 |[E L 1,048/ £;Rth 404 |f2[E ™ 2,952 | FRE&RTH 1,299 fEETH 1,391 FLET™ 355 |REARTH 6,125 f8# ™ 3,860 Frimm 4,239
29| &R 1,043 #L AT 400 | LR 2,949 S50TH 1,297 ;E¥ATH 1,280 R ¥rmh 343 W¥iITh 6,048 =I5 TH 3,854 | FRE&RTH 4,235
30 HHH 1,029 FE 395/ ILAH 2919 AT 1,286 | B[ 1,264|t25TH 343 &t 5,889 K;ETh 3,795 2 HE™ 4,164
31|t h 1,013 I BT 3941l H 2,869 HHIERT 1,283 | R AR X &R 1,247 | ¥ 1UTH 340 f@FH 5,873 #Fr LT 3,755 ;E#ATH 4,131
2 fEET 997 | RIfET™ 386 | AR TH 2,830 & ETh 1,238 ElLUH 1,237 |#Emh 322 | B[ 5,847 3R 3,750 &R 4,055
33 B¥[E T 988 HE™ 384 ;EMATH 2,819 KiETMH 1,229 ¥ 1,234 |88 [E™H 318|HHE[R ™ 5828 =R 3,718 liETh 4,007
34 RiItE™T 987 #FhiEm™ 381 fRIEE T 2,817 AR &R 1,212 1| I 1 1,233|7KEH 291 | =5 5812 #Fiamh 3,650 I, BT 3,917
35|fmBET 972 FH=E™ 380 FEH 2,777 bETH 1,205 =& TH 1,203| 2 HET™ 289|fEET™ 5,589 =HTH 3,620 AT 3,865
36 Friamh 970 X0 371 |Fiat 2,742 ;E¥ATH 1,196 | #XEA T 1,164 [ BT 288 |HIETH 5568 EERE™ 3,598 &LVi=FTH 3,830
37 Keh 952 ;Efath 3N |fEET 2,706 ‘=& TH 1,187 A& EH 1,156 | B[ 288/1E & ™ 5,564 BiItE™ 3,566 =I5 TH 3,795
38 & 925|fEE™ 360 & %0th 2,704 #3:ITh 1,182| & T 1,150 | BLER &P X & 284|)1|i&H 5,551 | U™ 3544 2B 3,733
39 B 924 ElUTH 360 | BT 2,583 | LlUfisTh 1,164|[L & 1,150 & 40th 264| EER T 5517 L& 3524 [LETH 3,701
40 ;E#ATH 924 )KFE T 357|SLV=FE T 2,542 )1|I5TH 1,155/ L@ H 1,132 B ¥ 262| LRz 5,495 BRETH 3431 e 3,672
41| B fF™H 904 B EYTH 343/{lE™H 2,488 FETH 1,140/ SLV=F 1,123| Kot 261 ;E#TH 5,418| )1l I&TH 3,315/ lu@mh 3,554
42/ KPPt 887 /At Al Th 342|ILUfsTh 2483 &SLVi=FTH 1,118 KFH 1,098 E & 260 Fiath 5,327 fB1E[R T 3,278 LUz Th 3,518
43 fEARTH 885 f&E 338 |#MITh 2,446 BRRFTH 1,090 R ¥ 1,084/ lLO7H 253 EEIRE™ 5139 fEET™ 3,245 R 3,396
4| REH 872 ¥AITh 331 | El&™H 2410 2T 1,063| LAz TH 994 ;EtnTh 244 FHE T 4954 ;E¥ATH 3,139 BfFH 3,255
45 Ri&th 871 ERET 322 FHEE ™ 2,391 #5RAH 1,050 IR &Th 983 FHE ™ 224 E¥h 4941 REFh 3,130 &#ATH 2,926
46 |FATH 869 BT 321 E¥H 2,377 Rt 1,021 |Bil4&™™H 946 | fEET 2082 ETh 46532 ETH 2,988 | ALIRTH 2,919
47 BRET 849 REfth 308 | & [E 2,334 R¥H 1,021 | [T 942|[E U 203| AR ERTH 4,649 HFFTH 2,752 B&HH 2,848
48 | ¥3iITh 815 EfFh 3042 ETH 2218 f&8Hh 1,002 kB 848 |ELV=F 195 &% 4566 FE = 2,738 #ALUTH 2,804
49 ERTh 754 | K& 296 |f@H 2,193 FH=TH 984|t@ETH 804 EIRET™ 193| B FTH 4496 I ETH 2,669 LT 2,585
50 =5 H 686 | REAR T 290|Hi¥E 2,043 HitE™H 922/ {iETH 726/ fllET™H 160 | Ik B /1 4462 SH1TH 2,604 EEnH 2,409
51{&&™ 680/ & E™ 275Kt 1,971 kBt 825 |REARTH 479 AR ErTH 60| = £0TH 4315/ KFth 2,601 | #3ITh 2,343
52| ARERTH 510 BRZERTH 251 | BRERTH 1,683 BRERTH 790 ARERTH 250 REARTH 31 KETH 4,184 ##RE™H 2,547 5 50tH 1,258
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SLHEEDLE =k I=E ] HIY HY LL#& LC#H hE(R) mE(R)

———————— HE: go- ———<F K- | HE: g < F K- | HE: g < FE K- | E: g < FE K- | ————<HE: g>-
02E 1,325 2[F 3,128/ £H 1,693 £ E 496 | £ [F 411 £E 304 £ F 186 £ F 807 & E 438
1f&8H#H 2,144 B #&H%™ 5955\ B &M 4375 BRRFTH 772|BpFTH 592 ¥\ I Th 1,624 #\ItH 1,697|[LE™ 2019|[5 & 1,175
2 b th 2,037 #LiRH 5418 #3Th 3,011 HEREAXER 6851 & ™ 548 /KB TH 876| H & 708 & 1,573 &tth 807
3B 2,018 | BE[E 4,192 ALIRTH 2910 B HE™ 660 &% it 539| FE&H M 838/ /KT 627 [ELH 1,312/ 768
4 Kot 1,904 | R AR X &R 3,974 | B¢ H 2,312 )11I&H 655 R AR &R 537 #HT 621|FET™ 406 & 1,306 &L 720
5 tgfE 1,840\ [L BT 3,967 FkHTH 2,183 &% 633| FEH VAL G 547 BT 402 tHETH 1,158 B th 698
6| FA™H 1,704/ FATH 3,891 EHRTH 2,006 FEhH 597| )&t 499 E T 546| BB fF 333 m#RTH 1,084 #nFrLth 635
7 BEARTH 1,697 Ml&ETH 3,826|lLUfsTH 2,000 E40TH 591 | & EM 486 #L1RH 472 | RE[E ™ 298 ;EtH 1,068| Lz TH 580
8| RIG™H 1,681 ¥ T h 3816/ [LET™ 1,948 | #L 1R 550\ E&T 485 | BE[ETH 445 | FLIETH 255 ALIEH 1,068 #L1EH 568
9| KiETh 1,571 |%ETh 3,644l 1,879\ ¥1:8H 537 |#Fia 476 (L& 430 liEH 251 BT 1,025 X5t 565

10 48K 1554 FEmh 3,602 1| TH 1,855 [ & 536 EER & 461 ELUH 404/ = LUtH 238| R #N X &R 986 il & TH 565
11 38&;H 1,554 )11 1&tH 3,539 | IR AR X & 1,841 gi4&™H 532 HiItE™H 447 FEEH 392 #Friamh 236 tEET 928| T 532
12| FEH 1,498| Lz TH 3,522 #Fia 1,835|f8E™ 527 R¥Fh 445 |1 1&TH 391 | R AXER 232 #aluth 924 ¥l 529
13| #0Fr LT 1,463 R fFTH 3,515 EBfFTH 1,809 #&;ETH 524/t ETh 442 FEH 387|FH =T 227 lUfsTH 908 | &R 491
14 1,455 &t 3471 | =#Ah 1,804 fEET™H 515;#th 438| RIR AN X BB 383 FEH 221 B EH 901 | Ik BT 475
15 K¥FH 1,449 | #:8TH 3,315 ([ LUth 1,773 ;F™H 501 | Ko 427 #Fiath 364| )11 217 | FEHh 862 lLA™ 439
16 #Fiam 1,421 3,267 FEth 1,770 ;E#ATH 500 = &0H 418|£iRth 361 fEE™T 201 |JI[ U5 h 860| B RERX &6 435
17588 1,405 R&RTH 3,160 5% 1,687/ ULV =FTH 499 B ETH 416 SWV=FThH 357\ &R 200/ 3Rth 858 | K& 434
18| R R ABX &R 1,390 KB th 3,085 Kyt 1,655/ LAz TH 496 | BE[ETH 416 FFRE™H 335| BRI 195| B R 835 %™ 415
19 F#=™H 1,389 | &%l h 3,084 LAt 1,647 ¥ 489| LUz TH 415 gifE™ 332|&LV=FEH 193|# 08k ILth 826 =R 413
20 | %[ 1,386 Z HETH 3084|f2ETH 1,644|F&ETH 486 |REARTH 409 fEETH 318| AR 191| KB 825 | B[ 413
21 |1 1,383 fHIE[E 3,076;&mH 1,643 #3UH 485 =LV =FH 404 fE2FHH 317|fEHTH 191 &R™H 813| FE™M 412
22| )kKF 1,382 BELtH 3,074 |4 ETH 1,627 HH{EET 474 FE = 401 #&EETH 315/ RHEE ™ 183 =B 803 | KFx 408
23/ &Rt 1,371 3% 3,069 HHIEERE ™ 1,585/ & 465| fL1ETH 399 |t R 306 | HItE™H 182 /At L Th 766| &R 388
24 ;B0 TH 1,354 | L tH 3042 B HET™ 1,549 3R th 456 |#EETH 391 AR 303|f@ETh 177 K5t 764|{EE™ 384
25 fRHEET 1,350/ f8&Th 3,007 & %0tH 1,539| RI&TH 443 5HATH 390 SaTh 297 | LH 172|#B#R R H 759 2 E™ 382
26 =5 1,347|db L vh 2,998 | KRR 1,516 &#ath 442 Ri&T™H 3892 ETh 286| Ko 172[lLAaH 734/ A 373
271 ERET 1,338 | BjfE™ 2,985 L fuin 1,515 B[ h 439 lLA™H 383| BT 267 &ATH 169 I B 1h 722 B[R 373
28| =R 1,333| A Th 2,974 ¥AUTH 1,483| I B H 432 |f2E ™ 382 [ ILUH 259 |t ETh 160|AiI#E™H 716 &40 372
29/ &E™H 1,333 kPt 2,938/ &R 1,468| H#RTH 428 | fAHERH 377 3Rt 253/ lLAT™ 158 &0t 71138 368
30 I B 7 1,319 ElUmh 2,890 FHET 1,467|£RH 426 iETH 373/ luAth 251 | F 03U 157 ;E¥TH 709 |#EET 354
N BHET 1,302| F&ETH 2,855 3R 1,448 KB tH 423 Ut 372 FnFrUT 239| KRR 155 §%[Emh 702 | REART 350
R2{uEH 1,294|£Rth 2,842 HiItE™H 1,442 {l&EH 41438 H 365 Knth 239| B & 150 f@ & 697 )11 I& 348
33| B[ 1,252 |I5; B H 2,810/l BT 1,439 lLAOtH A1 e 360 KBt 232/{E&tH 149 K& 683 | AItE™ 344
34 RiItE™T 1,247 &40t 2,781 KT 1,424 f&[EH 409 ARERTH 357 & %0Th 231 | & 50 142 Ki#E™H 654 |t ™ 343
35| KRR 1,215/ luavh 2,684 tHETH 1,418 At i h 407 ;E¥ATH 357 KiEMH 229 3R 136 ELUTH 635 ;EMT 326
36 AT 1,128 #2ivh 2,649 mERTH 1,414/ F@AH 404 I B H 356 BHET 220| K:ETH 132|t2/E™H 630 ¥ I 325
373 ™ 1,106 =B 2,647 ELLUH 1,408 EEIRET 402 | &R 345 =R 219|lLUfsh 131 #Fiam™ 629 EE™ 288
38| lUFsTh 1,099 ELV=FTH 2,613|F R LTH 1,395 K4t 400| &R TH 339 I B 209 Ik B 130 fE BT 622/ f2 5™ 283
9(luAT™H 1,085 X5 th 2528 EE'RE™ 1,390 & KTh 399| KRrh 322 ERET™ 198| B ET 119 kB 617 #iBmH 278
40| ELV=FETH 1,074 Efmh 249816 & 1,377 %R 375 @ tH 19| RFh 193 R 118{5&m™ 612 ELUTH 277
RN =] 1,071 | RI&™H 2,448 | SN -FETH 1,353|%8FHH 353 =R 316/ #aUth 191 [EE&™H 110|7kKFEH 591 | KiEmH 276
42 EETh 1,066 ;R TH 2,389 R ¥ H 1,340 IR ERTH 350 BXE T 302 {EE™H 184/ =B 109 #¥3;Th 590 FRERTH 259
43| FRERTH 1,040 | #0FkLUTH 2,364 | El&TH 1,318 K& 349 B R 300 ;E#ATH 183/ AL AL Th 101 |SLV=FTH 572 | B I&TH 256
44| B FTH 1,013/ K:ZE™H 2318 =R 1,295 BELH 346 |f@HTH 300 tH A TH 181 EERET 9| FHE™ 516 EIRET 256
45 FEH™ 963|EE™ 2276/ fEET™ 1,272| LU H 343| ElET™H 300/ LLUfsTH 174 FH 92 BFFTH 516 FkHETH 238
46| ¥ U 949 | t2RE™H 2,199 | tg8[E 1,218 &% ™ 342| K;E™H 291 At T 170 Ri&™H 90 E¥mh 512 SLV=FET 222
47| ¥iTmh 847 1EE™H 2,157 |ReRTH 1,216/ Th 341 |FHT 280 [LETH 164 ;EHATH 79 REARTH 496 {BFHTH 218
48 Sath 847 EIRE™ 2,148 E#ATH 1,214 =& 341 | #nFrLh 255 RI&GtH 157 #2LlUT 77 BT 482| FHR = 213
49 | [# U AR EEi 2,061|K;EMH 1,195 E LU 333|/KF™H 253 t&fE ™™ 98;EMh 56 &M 471 B ¥ 213
50 EHnh 766 | REAR T 1,931 f@8FH ™ 1,151 #3iIvh 328/ 248 ;EtH 90| &R 56 {2 439 R¥h 205
51| fLigH 754 BT 1,833 =& TH 1,113/ kBt 327 B 241 FREETH 80| ABFE ™ I ERERET 395 F&HF™ 205
52| &51th 427 BRERTH 1,428 BRERTH 1,021 F0FR L 271 85T h 235 REARTH 49| BEARTH 24 ARERTH 309 /KB TH 201
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Zf-TH Zf-TH o8 Lelo)=} EF AN EFAaN BT BT =52
—————————— KE BD- —HE: - | <XF B |——HE: g | HKF - | HE - | X B | ——<HE: - |—<F -

0 £H 1,122 £H 444 | = EF 400 £F 194| £EH 13,275 £H 6,198 £F 2221 | &F 1,240 £F 2,087

11 &HM 3538 F&HM 2,695 F&H&T 766 BT 464 FH™ 18,155 & & 9,569 | Frimm 5,035 Fiath 3,147 |f2RE™H 4,647

2 #L1RH 2,586 | ALIRTH 992 #LiRH 742 BETH 447 | Friath 16,867 | BX[E T 9,490 FkHTH 4,469 FETH 2,549 Jk T 4,306

3| BER™H 1,863 | E%[Emh 936 | #xHEH 653 ¥ I 436 | BX [T 16,670 Frimath 8,684 | BERA 4,092 EERATH 2,496 H&HH 3,086

4\ #@ATH 1,597 fEH 807 |#iTh 641 AL TH 379 #xATH 16,624 | LUz TH 8,420| Lz H 3,790 {2 &TH 2,278 FxATH 2,965

5/ 1,533| Uz TH 702|FrimT™h 613/ lUO™H 355|lUfsTh 16,367 | fHETH 8,302 {2 & 3,647 BE&H™H 2,180/ lLUfsTh 2,957

6| R AR X &R 1,450 L& 539 |t L T 611 Frimm 325 faETh 15,773 fa & 8,018 H&HM 3,638| Lz Th 2,115 #ri|mmh 2,860

7#8ETH 1,275\ #8Hh 534 | B [ETH 609 SR 290 | R fFH 15,545 #LiRtH 7,955 ¥ 3,581 ¥ 2,000 Hi#BTH 2,783

=Nl 1,252/t & 488 |#EETH 601| B[ 278 HHIEET 14,783 EExth 7,853 = LLUTH 3,172 Eluth 1,869 f2B&Th 2,468

9|JIlETH 1,226 F&RETH 4758/ 1UTH 591 |#&ETh 272| #LIRH 14,768 | R FFTH 7,835 BT 3,133 HFTH 1,804 E¥mh 2,449
10| FEH 1,222 E¥vmh 469 FEH 534 FEEH 257 KE 14,664 KEFtH 7,360/l & 3,000 K ETH 1,772 R &R X &R 2427
11| KB 1,210 J1| v 465 ;&M 500/ b Aol 243| =BT 14,492 | #B#Z[EH 7,026 | (LR 2,882 L1 H 1,642 B fFT™H 2,420
12| BfFH 1,196 |¥&;ETh 461 | BB 484 SNV =FTH 237|FHETH 14,402 i&ETH 6,879 FHETH 2,789l & 1,616 &M@ 2,346
13| f8#E R H 1,192 Kt 448 | R AR X &R 470| E1UTH 228| FEH 14.401 | 7)KETH 6,854 /K Fth 2,783\ FH =T 1,526/ = LU 2,322
14| F8=EH 1,181 HH#EE™T 4475 BTH 452 ;Eth 220|1RH 14,332 FEH 6,743 =B h 2599 ZBETH 1,455 F&EH 2,314
15 #Fiam™ 1,172 B FFTH 427|&iRtH 451 (iEH 215 4R 14,252| ZlUtH 6,699 | F%[E™H 2,440 EERH 1,344 |#&EmH 2,223
16 f28B&™H 1,164 EIRE™ 427/ LA™ 430 [LET™H 211])11& 14,146 FH#=H 6,643 KFRH 2,415 KPRt 1,338/ J1| I 2,216
17;&™™ 1,108 E LU A13iE™™H 425 &R™ 211 | =&pth 14,087 =R 6,618 )11 2,405 | F% [ 1,325\ K th 2,176
18R 1,080 R &R X &F 411 38H 422 S 50Th 206| K;ETH 14,061 #&RA™H 6,536 | HHIE R T 2,277 HHERS 1,295/ BE AT 2,125
19| R¥m 1,073 FEmH 407 | E%fEh 412 BB 200 | BRI AR X & 14,025 SLV=FH 6,529 FZEH 2,262 HEETH 1,285 f=FH 2,112
20| BT 1,050(db AL T 407|lLfzTh 410 R BT 198|db A Th 13,909 )11 & 6,403 ;E¥ATH 2,233 ;E¥ATH 1,278/ K;EMH 2,112
21|gtE™H 1,048 B ETH 400|)I[i&TH 407 | HBEET 195 &% 13,844 #&;ETh 6,345 L= F T 2,211 1[I TH 1,276| fLiE M1 2,111
22k umth 1044 =B 387/ KHth 399| R AR X &R 193/ E U 13,825 KiEh 6,282 | &;iRH 2,207 SWNV=FEh 1,213/45& ™ 2,103
23 RARTH 1,041 ;EH 377 B 397 KHoth 192|7KFH 13,685 | #0153k LT 6,176 X;ET 2,202 HitE™H 1,201 | FEh 2,084
24 R 1,002 | E% [ h 375 KB 395 JI| & ThH 188 KBr w1 13,305 #ATh 6,098 SR 2,202 FEH 1,192 tAERH 1,993
25| F ™ 994 Z40h 368|=LV=FH 369 F#RE™H 178 lET™ 13,242 ;E#TH 6,091 RiI#E™H 2,109 &R 1,175/ 5K #&RBth 1,971
26 ZEB™ 993 |RilAE™ 358|HItE™ 357 K:EMHH 167|&LV=FE ™ 13,212 &%0H 6,004 3R 2,107 2 ET 1,1353& ™ 1,959
27\ BHEM 971 | F™ 3b4|ERET 348/ 1Rth 166|#0FxLtH 13,148 | I B h 5,974 |t ETh 2,095 K:EMh 1,125 {l&™H 1,905
28| &t 956 | &R 354 |tHR[R T 344 Krth 164|RitE™H 13,123 |Ril#E™H 5,940 R RARX &R 2,031 f28F 1,102| KB th 1,882
29 KETH 937 iAm 350 f&fE 343 P TH 162 &R 13,016 3Rt 5927 ET™H 1,987 A BT 1,094 f@FH 1,854
30 B 927 ;EfTh 347 EWRT 341 BBfFTH 160| S HERH 12,937 &2 HEM 5,844 | [ LLTH 1,941 | LH 1,074/ =Bt 1,818
31 & 909 |l BB 345 &S 50TH 339 |lLUfisTh 152 ;B4 H 12,860 &R TH 5,797 |f@H 1,895;FH 1,072/ &Rt 1,792
32 R 885 AT 3432 ETH 333 I BT 150 &40 12,778/ € Rt 5,666 | # = T 1,885 | #1&x L TH 1,059 Ko mh 1,784
33|[E L 870 #xLtH 342 B HETH 32 BEHETH 147/ 1lLA™H 12,085 F IR &R X &L 5,664| F1FR LI 1,852 R AR X &B 1,052 El&H 1,648
4(luATh 858 | HEATH 321/ f@HH 310 2R 137|f8H#™H 11,908 5583 :F M 1,837/3RH 1,046/ lLOTH 1,645
35 EMT 855 B Enh 309 | FR&RTH 303/ fEET™ 134;&mH 11,890/ lLATH 5,539 ¥\ T 1,832| I B th 997| =& 1,562
36 KET 832 HARTH 307 WETH 299 {BHTH 132 #F 11,739 L Ll 5461 2 G EMH 1,783 #3Ih 995 HHET 1,545
37\¥aluth 826 | [# LU H 306 FER =T 281 #FxLth 13281 11,677 f@F#H 5,446/ I B 1,773 @ F 934 B4 h 1,542
38|=LV=F T 816 KiEh 293 | R 281 HiItE™ 130|EEH 11,648 4B ™H 5,386 | IR&RTH 1,767| &R TH 913| I BT 1,511
39 B 815 {2 286 | FNFr U™ 279 R¥fh 128 | I BT 11,540 ¥ ILUTH 5380{k&E™ 1,708 & #ath 897|ILET 1,459
0 ERBE™ 805 [LETH 281 | fEE™ 275 | FEEH 124 B HET™ 11,516 KR 5,304 = &0tH 1,633 {E&E™ 877 F ™ 1,447
A RET 796/ lLOT 279 |REARTH 265 |[# LU 117|&RH 11,176 fEE™ 5,282 5 th 1,609 = 40th 834| EET 1,367
42| & R™ 790/ K E T 277 L 258 (EE 113 S 10,974 {8 H 5231 lLATH 1,532\ [ & 810/ #nFr Lith 1,303
43| F0FrLH 748| LM =FETH 275 =B 257 RIG™H 109|#A L 10,889 | = 5 tH 5161| [ & 1,434/ 1lLOTH 809|;EtH 1,255
44| KHtH 726|f2H T 274 KETH 255 REARTH 105| K4 10,819 Ko h 5,026 Kot 1,211 #31Umh 708 [ LLUTH 1,226
45| fERTH 21| K59 270 ¥ h 231 &ERth 103| RIG™H 10,407 | [L&TH 4912/ ¥ LtH 1,210| B H 603 ST 1,221
46 | & ™ 720 #¥iTTh 268 | #a Ll h 223|#3Llh 9B ™ 10,280 f#F 4819/ db Ll 1,187 AL v 577 #¥iLh 1,186
A7T{EE™H 700| &= & 265|KF T 208 ARERTH 97| [ LT 10,050 R I&H 4,739| BT 1,167/ K% H 571 ¥l 1,165
48 |f@H™H 643 | F0FILU™H 260 ST 203 J)KETH NLET 9,863 REATH 4711 | RIGH 1,037 R H 541 EERE™ 1,143
49 #\TTh 634| K& 260/ {E&™H 197| 2 & H 85| &= 5 9,750 SHTh 4,666 EER BT 1,007 EIRE™™H 508 ;EfaTh 1,140
50 =5 H 559 |{E & 254 | EI&TH 184 | =&RTH 76| FEARTH 9,468 [ELLTH 4,381 {8RE™ 999 {EREH 507 fE BT 1,073
51 fEBm™ 545 fEETH 213 FRETH 174 S TH RBERET 8113 EIRE™ 4,203 BEARTH 912 REATH 479 & %0tH 959
52| ARERTH 514 BRERTH 211 ;BT 142 ;E¥8TH 72| AR ETH 4233 AR FmH 1,916 BRERTH 444 | BRERTH 298| AR ERTH 713
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f=5C L9 FL LodFL FLHL FLHL HhoEFEN hDEFHEN BB M BIFhEIZS
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02E 626 £ F 1,591 | 2F 472| £ E 580| £E 435 £E 6,786 £F 3,453 2F 8,855 £ [F 2,289

1 &8&H%™ 1,144 | %[ ™H 3,228 | fnFrL 1,122 1| vH 1,205| 5% [ H 952 E&H&™ 10,172\ & &HFH 5,673 RI&TH 14,209 EElRETH 6,324

2\ tgfEm™ 1,128 FOFR LT 3,055 | B [E T 1,058 5% th 1,168 fB#E /R H 835| AL MR H 8,793 BExH 5,526 & 13,138 Ri&™H 4,107

3 RAT™ 1,052 ;E#ATH 2,795 =40h 879 HFFTH 1,138 B fFTH 823 | BE[ETh 8,782 | B[ Th 5516/ B R E™ 11,001 ¥ 3,764

4| lURsTH 1,014 &%1h 2,740 E#¥ATH 801 fHIE[E T 1,122| )1 814|lLfizth 8,284 #LIRH 5132 S 40tH 10,691 {E&H 3,557

53k h 986 tHIERE T 2,614/ f8%&E R 711 |#E™ 1,021 FEmH 740 BEYTH 8,129 Lz TH 4,749 EUtH 10,507 | & %0h 3,250

6\ 3Bt 950| R fF 2,536 | R 702 FEm 1,007 | #EH 719 #H 8,037 |Friath 4,145 ¥AlUTh 10,492 ¥A LU TH 3,243

1f2B&m™ 859 =RBh 2,360 =R 688| =L \f-F T 842 L V=FH 679 Fiamh 7,610 #xET™ 4138 EE™H 10,439 | B TH 3,161

8| B[ h 826 FHN = 2,313/ 687 BIRARX &R 830 = &0H 593|3RH 75472 &™H 4128 S¥TH 10,288 3R 3,025

9 #L1RH 818 &R 2277 KB 640 S %0 802|HiItET™H 589 | AR 7472\ ¥ I 4004 1LAT™H 10,199 | #0FxLUTH 2,933
10 £8HH 813 /1A 2,239 FHE T 621 ;EfTH 753 & & 576 R ETH 7457 L& 3,911 B 9,897 fEET™ 2,848
11 |H#E™ 805| BRI &R X &B 2,153 KBt 610 HI4E ™ 744 R EBX &R 551t & 7,454 K;ET 3,829 & th 9,778 KPRt 2,756
12|11 H 723 4R 2,097 [#&ETH 607 B ET 632 ;M 550 K& 7,380 | fB¥R[R 3,798 fEETH 9,650 =R 2,715
13 B fF™H 707 )KE 2,079/ 1| 1&Th 600 K& 630 Ik B 468/ ILOTH 7372 FEH 3,725 F¥E™H 9,494 At LM 2,650
14| R EBX AR 701 | JI| U5 TH 2,065 R AR X &B 587 KErh 628 #iTh 466| KR H 7,348 =R 3,703t & 9447 |fHETH 2,602
15| F# =™ 695 FEmM 1,940 | FR&RTH 558 | & & 622 | FR&RTH 459 ZEBH 7,244 R¥H 3,684 |lUfisTh 9,406 X 2,531
16 L&E™ 687 | SLV\=FE T 1,891 f8FH 558 | R &R 600| KXnh 450 L A 7,150 B fFH 3,676 FETH 9,280 I 2,468
17|&LNM=Fm™h 674/ t2aE™H 1,845 ;& 547/ 1LOTH 5719 K¥h 448 ¥ Ith 7113 KF 3,628 #¥ITh 9171 K;Zm 2,389
18| BT 641|IK BT 1,816|&LV=FEH 543|;Eth 569| K& 447 | FEth 7,108 #ALTH 3,596 ;&M 9,147 fAHR[R T 2,328
19 f8#&E R H 641|t8H™H 1,799 {2 & 528 KiEth 568| R I&TH 442 | ¥31LH 7,028/ lLOtH 3,569 L L 9,109/ lhOw 2,300
20| K;E™ 621 K;E™H 1,798| FEH 527|KF ™ 560 ;& 442 S¥ATH 6,907 | ELV=FETH 3502 BHE™ 9,101 ¥k 2,232
21 t&EET 620 | BIHET™ 1,757 K:EH 513|F& = 558| FHN = 440 #&EETH 6,816/ = LU 3467 =B 9,081 | AR 2,184
22| REARTH 602| KFF 1,710/ #ALUvH 503| Ko 545 ¥ UTH M3 FEIEERET 6,778 FH# =T 3,458 #Fr LT 8,926 f2 & 2,165
23|)KF T 600|;ETH 1,564 B ET 499 Ik B H 528 B ET 409 ELUH 6,709 S &0TH 3447 f@F™H 8,879 &% 2,163
2438 586 A E™ 1,436 |BitE™H 482 ¥AITH 506K 405 P TH 6,694 £ & ™ 3,433 KBRth 8,870 FEth 2,149
25 {E8™H 585l & 1,393 K¥mh 448 E'R BT 500 F0FrU™ 399 ;FtH 6,666 K4 3,423 #ETh 8,861 f2fET™H 2,146
26| &R 582 | KFx 1,358/ {l&™H 417 F0Fruh 481 EIRET™ 397 Kpth 6,665 3R 3412 E¥th 8,854 ;E#ATH 2,140
27| FEH 574/ F 1,357 |4 409 $Rh 480 1lLAT™H 377 & %0h 6,645 fEET™H 3,408 |l B h 8,819 R RARX B 2,117
28 RARTH 566| = LU 1,239| KB 405 ZEBH AN\ EBH 347 HRANX &R 6,584 Ik B 3,396 fRIE[R 8,718;Fm 2,103
29| FER™ 535 ¥A LU 1,172\ &R 361|dL 449 =E1lUth 335/ fLETH 6,579 | F0Fx L 3,384 )11 TH 8,547 ELLUTH 2,100
30| Knth 516 &R 1,112 | %[ 349 fE&RH 3923 319 R 6,521 B E™ 3,380 A TH 8,468 [LB&TH 2,082
31| Krh 516 Uiz 1,078 #XEATH 343 | & [E ™ 386 |t AL 315 F0Fru 6,457 K& 3,359 ;E#ATH 8,461 EHnh 2,047
32|f@H™ 507 B% [ 1,064 |1z H 335 E U 383 | &[T 310 FH=Th 6,428 FRARTH 3,326 K:ETh 8,405 f&FHh 2,029
33| BT 504 | #3iI T 1,040 | #\TThH 332 FH™ 372 |2 ™™H 302 BfF™ 6,318 BEART 3,298 KHoth 8,360/ )| I&th 2,020
M LET 489 EEnh 1,014 BELH 329 luE™H 365| FHZM 301 ¥ 6,296| € R 3,282 R R ARX &B 8,358 | FHIE ™ 1,975
B BHET 476 Frimmh 999 E LU 325 A 362/l 284|f&fE h 6,295 ;EMTH 3,277 &R 8,353 | [ELUTH 1,968
36 I B 473 EATH 980 ETH 324 2™ 361 |Fiam 281 |JII&TH 6,255| /L & 3,266 FAFFTH 8,317|lLUfizTh 1,963
37lu@th 471 1lLAtH 956 | Frimh 291 fHETH 355|{E & 280/ SLV=FETH 6,156 | = & 3,251 | El&™H 8,303 Hi¥ET™ 1,904
38 Em 447 BB 921 &#Th 2718 {EEBT™H 347|@ETH 267 BHET 6,120|Jt S 3,147 | &riath 8,130 B fFh 1,904
39 RIGH 425\ F A 901 |lLAT™ 277 #ALlUTH 313|f@Hh 256 KPP 6,086 ;Em 3,122 | FR&RTH 8,079 BEATH 1,892
40 | B2 H 420 H&HH 887 BH&HM 272 f@HH 312| &R 241 f@8H 6,049 |#ETH 3,107 [ &t 8,030 E¥fth 1,892
A1(;E™™H 418 @ LUH 872|[ U 271 &R™ 311|[LE™ 231 [LB™ 6,001 fEH 3,082 B&HZ™ 1978 2 ET™ 1,891
42| fHETTH 392 4t LM 817 #L1RH 239 KPR 302/ T 223 E&T™H 5,957 )& 3,079 | B 7,903/ € R 1,885
43| #3iITh 390 fLME 803/{£E™ 214 lUfsTh 258 | KRr 205 ;E¥ATH 5,939 5 aTh 2,950 RiItE™ 7,826 | #iath 1,839
44 [T 390| L& 732/ AL Ll 210| E2#ath 257 | LUz Th 203| I BT 5913|t28RE ™ 2,942 XV=FETH 7,558 |l B 1,707
45 5t 37212 683|[L & 203|Fx AT 252 | FATH 195/ I 5,765| KR 2927 FH =™ 7548 SLNM=FE T 1,701
46 AU 3712/{c & 658 | REARTH 184 [LUth 247 BT 189|£;RtH 5,754 R AR X &R 2,894 | ALIRTH 7479 L& 1,676
47 BT 353 | REARTH 640 EEIRET 167 [L&™ 236/ AL 183|AitE™ 5,729 | RifE™ 2,868 {2 ™ 7407|KF T 1,675
48 | F0Fr LT 349 R F;™H 632 | &t 166 B ELTH 226| &t 179|EEARTH 5570 # T 2,844 FhHETH 7,394 5 & ™ 1,639
49 ;EATH 334| Kt 615| Kot 159 REARTH 221 |RERTH 154 8™ 5,466 'R & 2,826 JKETH 7,223 LR 1,624
50 ERE™ 329 K& 572 AR ETH 156| fEE ™ 209 | B ETH 144 5% TH 5,465 | §%[ETH 2,709 |[#LUTH 7,220 B[ 1,522
51 & %0h 314 BIRE™ 495 Ri&™H 134 LR ™H 178 ALIR T 126 'R ET™ 4,967 | [ L 2,546 HEARTH 7,181 |f#kET™ 1,490
52| ARERTH 188 El&TH 444| B IGTH 134 R F;™H 58| ARERTH 64 ARERTH 2,386 | FRERTH 1,311 BRERtH 5538 BRERTH 1,236




20214 (M 34F) ~20234F (HF5E) Fi5

BH MWEFEZ hoBERRER M BN & MOEBE-HIYER M OEE-HIYE BNDEY BNDOOEE BN OEE
—————————— A D —— - D S D — .- —— - - D st - 0= -l - A .- —— - - —— - D
02E 1,865 £ E 3,145 2FH 1,555 £ E 10,965| £ E 819 £F 193 £H 3,015 2F 909| £ H 2,839
1 BEH 34791l E 8,574 | &% 2,775 F&H™ 15,403 FRERTH 1,981 |FE/H 723 ElUTH 7,296 F&[ET™H 1,727\ 38 &R TH 5,274
2 fEE™ 3,030 RI&H 5756 ZHE™ 2,205 ELUTH 14,801 | S %0tH 1,153 &40t 294| HE&H™ 6,049 RErH 1,676 Frigmh 3,938
3l 2,849 ELUH 5,130 Ri&H 2,109 R¥rh 14247\ EIRE™ 1,143 EEIRE™ 280 | B fF 5113 R&RTH 1,614 E¥mH 3,652
AEE™ 2472 1lLAtH 4,165 SR 2,074 HFFTH 14,184 |55 ™H 1,058 ;E#ATH 262 | Friat 4902 I ETH 1,485|lLUfisth 3,431
5(u@v 2,333 lUfsTh 3,825 FETH 1,997 #Figamh 13,480 ;E¥ATH 1,038 | #0FkILTH 253| R¥Fh 4711 ;FH 1,448 F&HH 3,398
6| =™ 2,320 #3;ITh 3,803;EH 1,942|FATH 13,244 ;& 1,034 | %@ H 250 Fk AT 4,604 KiETH 1,418|f8ETh 3,351
738%™ 2,254 S H0TH 3,726 ;E¥ATH 1,915 &[T 13,037 |# &t 993 | K#EMH 238| &R 4,592 #ETH 1,352 |gil4&TH 3,325
8| RIG™H 2,237 @B 3,693 |15 thH 1,911 lLfzth 12,801 | K;EmH 964 FARTH 235| & RE 4,529 ;E¥ATH 1,296 F&RE T 3,264
9 EHH 2,198 FEmH 3,533 |1k 1,876 {2 5™ 12,772 3Rt 949 fETh 230 #LIE 4,354 ¥ 1,272 SLN=FETH 3,230
10 ZBH 2,161 /€ Rt 3440 {2 ETh 1,869 #LiEH 12,627 FEH 929 =B 230/ LLUfsTH 3,942 P TH 1,265/ 1| & 3,207
11| KZEH 2,125 ALigH 3,315|IE E7h 1,861 | BiT#E ™ 12470|fEETH 905 & H B 223 IR AR X BB 3827 & EHE™ 1,177 | 5%@h 3,164
12| 8HE™H 2,108 | BERE T 3,288 | R AN X &f 1,838 | AR X &R 12,436|F0FxLUTH 905 ;¢ 216 | RiI#B™ 3,797 KRxh 1,122 )KF 3,127
13 2,098 #ETh 3,243|SLVM=F T 1,793 FEmh 12,359 &#Ath 905| & & 211|FEH 3,762 | Uz h 1,120 I BB v 3,123
14| KB 2,095 I, B 3,228/ Uz TH 1,759 F&#RE 12,279 =BH 902 | B2 vy 206 ILETH 3,735 FETH 1,113{l&E™H 3,114
15/ L A 2072 R¥H 3221 |f@#H 1,715/ 1| v 12,219/ 8 H 892 B 2032 3,691 HFFTH 1,109 | #H4E[E H 3,106
16| &t 2,058 Friam 3178 ELLUThH 1,671 &2 mH 12,106 | B hH 865 RI&™ 203/ 1| &t 3,638 &Rt 1,107 R &R X &R 3,095
17 & 2,022 & 3,158 | tAHR[R 1,634|€Rth 12,060 FH&RTH 861 3Rth 202 FHE T 3,636 HitE™H 1,101 | B¥ [ 3,068
18|t8H™H 2,000 H#FHH 3,152 B FTH 1,573{lE™™H 11,933 B E™ 857 &EATh 201 | SLV=FE T 3,349 kKFTh 1,052 ;& 3,059
19| &R T 1,993 f@FH ™ 3,136 /lET™H 1,548 |¥Emh 11,624 |gi#EH 844 fEETH 196 HHAE/RE T 33471 =Bth 1,025 FFEh 3,001
20 ;EfaTh 1,991 M8 [R 3,126 REh 1,543 SWMV-F 11,577 #21Umh 831 | KPR 195|f& K h 3,287 t& 5 1,017 #&EmH 2,941
21 BEARTH 1,974/ ¥ALUTH 3,100 /KF 1,508l B 1h 11,299 | R &R X &f 783 ¥l 195 KFm 3192 F& = 984 ;EHA T 2,902
22 BERE™H 1,966 FXATH 3,097 | FH#E™ 1,506 FHFEE T 11,292 | fB#E R H 774 FEH 183 &% 3,107 JI|&TH 968 B L ET 2,891
23 BFFTH 1,964 1| I&TH 3,085 | Fimth 1,503 ;Etath 11,168| B & TH 768 |[E LT 181|=&RH 2,963 E LU 942 #HET 2,883
24 HETH 1,958/ L AN TH 3,065 giltE™H 1,478 kBt 11,161 |3 V=FH 755 HH{EET 177 I BT 2,769 R R AR X &B 888 R fFTH 2,869
25 Ko 1,889 | #nFxILUTH 3,051 5T 1,471 3% 10,904 #FTH 752| P ™ 176| K;EMH 2,727 fB¥E[RH 860 EEIRET™ 2,703
26| BB T™H 1,866 ;&M 3,005 & 1,455| H#RTH 10,901 | KfRH 743 R AR X &R 171 f8H ™ 2,722 ¥&ETH 852 =R 2,656
27|lLfTh 1,859 &#ath 2,996|lLAT™ 1,401 ;& 10,787 K&t 734 FAETH 169 ;E#¥ATH 2,695 f@H 834 ¥ I 2,656
28|[LETH 1,858 & ™ 2,954 & 50TH 1,395\ K;#EMH 10,773|f8H™H 733/luOT 167 ERm 2,681 db Al 778| =& T 2,624
29[ 1,833 R ARX &R 2942 HE&HF™H 1,380 =B 10,506 | R fFTH 728 | BIfET 1653t 2,656 FOFxR LT 766 | LR 2,566
30 HHH 1,807 =B 2,940 [ #\ITH 1,371 | &2 HEH 10415 R¥th 726 | ¥ 164 ZHEH 2421 A BT 755 | KEMH 2,551
31 F1FrLh 1,792 [ & 2,924 &R 1,366 | BRZERTH 10,337 |¥AIhH 726 fE[ETH 163/ & 2,391 &LVvi=FTh 749 | T 2,539
32 f8E™ 1,721 | 2 HEmH 2,898 KiETH 1,364 fH P 9,796 | [ LUTH 708/ fllET 159| KB 2,292 BB 721|&R™ 2,516
33 AR 1,694 R FFTH 2,876 & 1,341 | KR th 9,742\ KETH 706| [ E&T 157 ##Fm 2,276 | ALIRTH 4| K9 2,440
34| &R 1,662| 8% fE™TH 2,862t i 1,322|f8FH 9,693|)I1I&TH 704 |2 FH ™ 157;&™ 2273 lET™H AVAE #iR 2,428
35| fafE 1,632 KRt 2841 fEE™ 1,319 5#th 9,154 F &= 694 &R 156 & & ™ 2,197 &¥th 708 E LU 2,427
36 MEIEET 1,631)KFh 2,808 #A1LTH 1,300 X5t 8,940\ L& 694 BT 152 #8iIm 2,090 Kyt 643|[LE™ 2,375
37 #hi;mmh 1,610/ f#FtH 2,795 Kyt 1,266 |#A;Th 8,920/ {iETh 692 SLV=FET 149 f2[E 2,087 | B[ 614 lLOT 2,367
38 EUTh 1,606| &R TH 2,721 =B 1,266 |t2[ETH 8,806 K& th 689 FH =™ 148| K& 2,048 [ LUt 586| IR H 2,346
39 FEM 1,602 XHth 2,674 FkETH 1,244 [L BT 8,754 BEARTH 681/ K5 147| B I&H 2,016 Fiamh 583| & & 2,339
40 #RETH 1,565 ELVi=FTH 2,652 AR 1,181[db AL vh 8,611 |ILUfsTh 677/ )KE T 146 | dL LN TH 1,869 & 567 | f&fE 2,263
41| B iETH 1,561|F&=ETH 2,608 KPR LI79ERE™ 8,492|lLAO 667|)I1&TH 145| RIGTH 1,864 BEARTH 529|{E & 2,247
42| )Ii&th 1,531/ Bi{E™H 2578/ [LET™H 1,166 RI&TH 8,323 t2[E ™ 648 B ¥ 144 EERET 1,826 [L&TH 518| ST 2,239
43| #3iITh 1,529 K& 2,527 | t&EH 1,158 {&& 8,312/dt fuim 645|IUfizTH 140| EERH 1,809 f&ff 496 R H 2,229
44 ¥R 1,510/ 8/ ™H 2,471 | F0Fu 1,150 El&TH 8311 {EE™ 638 AEARTH 140|EEH 1,608 El&FTH 484 REARTH 2,220
45 LR 1,462/ fEE™ 2,453 |[ELUTH 1,140 S 40th 8,110/ FkHETH 637 LR 135|[E&™H 1,583 EIRE™ 481 S %0h 2,216
46 | R IR ABRX AR 1,461 El&TTH 2,443 & TH 1,138/ 8B 8,086 | B[ tH 627 R¥mH 128 @ LmH 1,497 ¥Ith 479 KBrh 2,190
47| FEEH 1,459 EIRE™ 2,421 | &R 1,127/ luAavh 7,889 | #L1E 593 At LM I 128/ lLA™H 1,455/ ILOTH 450 48 FTH 2,143
48| =LV =FTh 1,412 ;E¥TH 2415 AT 1,114 Futh 7,845 B 587 | B & 128 S0 1,409 E & 431 | F0Fru 2,130
49 b 1,340\ FRERTh 2,367 | ALIRTH 1,078 | #08kILTH 1812\ #iath 576 B 128|BEARTH 1,408 ¥A1LTH 424 fEETH 2,102
50 ARERTH 1,324 B KTH 2,306 EIRET™ 1,037 BELH 7,538\ 4R 569 | #iamh 121 # 03U 1,327 {48 ™™ 406 #ALUTH 2,018
51 KFth 1,231 B 2,297 | REARTH 1,010 BEARTH 7,296 E LU 563| = LU 120 #A LU 1,005 & %0tH 369 BEL™H 1,955
52 ERET™ 1,219 [ uh 2,280 R FRTH 612 faLlth 6,863 H & 487 B &HH 99| AR ERTH 623 BRERTH 159 | [T 1,868
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02E 3,383

11 &HM 4,901

2 #L1RH 4,400

3 RpFTh 4,365

4| BEX[ETH 4,199

5tgEm™ 4074

6| R AR X &R 3,843

7 ®#E™H 3,768

8 |)1h 3,702

9| FH=H 3,701

10|33 3,681
1MLE™ 3,679
12|lUAHE™H 3,631
13|[LE™H 3,584
142U 3,573
15| FEH 3,554
16 |#&/EmH 3,551
17|&LNM=Fm™h 3,495
18 #Fiam™ 3,482
19 KHF™ 3,481
20 gitET™ 3,403
21| KBrh 3,395
22t 3,313
23|&iR™ 3,275
24\ f@HH 3,261
25| ER™ 3,242
26 ;EHATH 3,237
27| fBER 3,205
28 |[E Ut 3,186
29| Knth 3,120
30| K:EMH 3,112
31|KF 3,084
2BHET 3,069
33| RIFTH 3,065
34| B 3,057
35| #%fE ™ 3,050
36;ETH 2,973
37 #ITh 2,968
38 | METH 2,964
39| &HITH 2,962
40(IlLO™H 2,949
41 50H 2,912
423t i h 2,891
43| FRERTH 2,839
44 fEETH 2,716
45| = IFTH 2,704
46 | F0FR LT 2,685
47 ¥aluth 2,584
48 1EE™H 2,569
49 ERTh 2,466
50 REATH 2,459
51 BIRE™ 2,340
52| ARERTH 2,300
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